

ID

#

7964

Sec

#

B

Paper

#

Differential Equation

Instructor

#

Malam Shumaila

Question NO 07

Part (i)

$$(ii) w = \sin(x+ct) + \cos(2x+2ct)$$

$$w = \sin(x+ct) + \cos(2x+2ct)$$

$$\frac{\partial w}{\partial t} = \cos(x+ct) + (-\sin(2x+2ct)) + 2c$$

$$\frac{\partial^2 w}{\partial t^2} = -\sin(x+ct) + (-\cos(2x+2ct)) + 4c^2$$

$$\frac{\partial w}{\partial x} = \cos(x+ct) - \sin(2x+2ct) + 2$$

$$\frac{\partial^2 w}{\partial x^2} = -\sin(x+ct) - 4\cos(2x+2ct)$$

$$= \{-\sin(x+ct) - 4\cos(2x+2ct)\}$$

$$\frac{\partial^2 w}{\partial t^2} = +c^2 \{-\sin(x+ct) - 4\cos(2x+2ct)\}$$

$$c^2 = \frac{\partial^2 w}{\partial x^2}$$

Hence

$$\frac{\partial^2 w}{\partial t^2} = c^2 \frac{\partial^2 w}{\partial x^2}$$

Question No 09
Part (ii)

Given

$$w = \tan(2x + ct)$$

Soln

we know that

$$w = \tan(2x + ct)$$

taking derivative w-r't 't'

$$\frac{dw}{dt} = \frac{d}{dt} \tan(2x + ct) \cdot c$$

$$\frac{dw}{dt} = \sec^2(2x + ct) \cdot c$$

$$\frac{dw}{dt} = c \sec^2(2x + ct)$$

Again taking derivative

$$\frac{dw}{dt^2} = c \frac{d}{dt} \sec^2(2x + ct)$$

$$\frac{d^2 w}{dt^2} = L \cdot 2 \sec(2x+ct) - \sec(2x+ct) \cdot \tan(2x+ct) \cdot L$$

$$\frac{d^2 w}{dt^2} = 2L^2 \sec^2(2x+ct) - \tan(2x+ct)$$

Now $w = \tan(2x+ct)$

taking derivative w-r-t 'x'

$$\frac{dw}{dx} = \frac{d}{dx} \tan 2x+ct$$

$$\frac{dw}{dx} = \sec^2(2x+ct) \cdot 2$$

$$\frac{dw}{dx} = 2 \sec^2(2x+ct)$$

Again taking derivative

$$\frac{d^2 w}{dx^2} = 2 \frac{d}{dx} \sec^2(2x+ct)$$

$$\frac{d^2 w}{dx^2} = 2 \cdot 2 \sec(2x+ct) \sec(2x+ct) \tan(2x+ct) \cdot 2$$

$$\frac{\partial^2 w}{\partial x^2} = 6 \text{ sec}^2 (2x+t) \tan(2x+t)$$

we know the wave equation

$$\frac{\partial^2 w}{\partial t^2} = c^2 \frac{\partial^2 w}{\partial x^2}$$

Put values in wave equation

$$\frac{1}{2} \frac{\partial^2 \text{sec}^2(2x+t) \tan(2x+t)}{\partial t^2} = \frac{26}{2} \frac{\partial^2 \text{sec}^2(2x+t) \tan(2x+t)}{\partial x^2}$$

$1 \neq 3$

So

L.H.S \neq R.H.S

Question no 2

Given:-

$$f(x) \begin{cases} x; & -\pi < x \leq 0 \\ 2x; & 0 \leq x < \pi \end{cases}$$

we have to find fourier coefficients
 a_0, a_n by bn

Now

$$a_0 = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) dx = \frac{1}{\pi} \int_{-\pi}^0 x dx + \frac{1}{\pi} \int_0^{\pi} 2x dx$$

$$= \frac{1}{\pi} \left[\frac{x^2}{2} \right]_{-\pi}^0 + \frac{2}{\pi} \left[\frac{x^2}{2} \right]_0^{\pi}$$

$$= \frac{1}{\pi} \left[0 - \frac{\pi^2}{2} \right] + \frac{2}{\pi} \left[\frac{\pi^2}{2} - 0 \right]$$

$$a_0 = \frac{-\pi}{2} + \pi = \frac{\pi}{2} \quad \text{--- (i)}$$

$$a_n = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \cos nx \, dx$$

$$= \frac{1}{\pi} \int_{-\pi}^0 (x \cos nx) \, dx + \frac{1}{\pi} \int_0^{\pi} (2x \cos nx) \, dx$$

$$= \frac{1}{\pi} \left[x \left(\frac{\sin nx}{n} \right) - \left(\frac{-\cos nx}{n^2} \right) \right]_0^0$$

$$+ \frac{2}{\pi} \left[x \left(\frac{\sin nx}{n} \right) - \left(\frac{-\cos nx}{n^2} \right) \right]_0^{\pi}$$

$$a_n = \frac{1}{\pi} \left[\frac{\cos 0}{n^2} - \frac{\cos n\pi}{n^2} + \frac{2}{\pi} \left[\frac{\cos n\pi \cos 0}{n^2} - \frac{\cos 0}{n^2} \right] \right]$$

$$= \frac{1}{\pi} \left[\frac{(1 - (-1)^n) + 2(-1)^n - 2}{n^2} \right]$$

$$= \frac{(-1)^n - 1}{\pi n^2}$$

So $\left\{ \begin{array}{l} \frac{-2}{\pi n^2}; \text{ if } n \text{ is odd} \\ 0; \text{ if } n \text{ is even} \end{array} \right\}$

$$b_n = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x) \sin nx \, dx = \frac{1}{\pi} \int_{-\pi}^0 x \sin nx \, dx$$

$$+ \frac{2}{\pi} \int_0^{\pi} x \sin nx \, dx$$

$$= \frac{1}{\pi} \left[x \left(\frac{-\cos nx}{n} \right) - \left(\frac{-\sin nx}{n^2} \right) \right]_0^0 +$$

$$\frac{2}{\pi} \left[x \left(\frac{-\cos nx}{n} \right) - \left(\frac{-\sin nx}{n^2} \right) \right]_{\pi}^{\pi}$$

$$b_n = \frac{1}{\pi} \left[\frac{-\pi \cos n\pi}{n} \right] + \frac{2}{\pi} \left[\frac{-\pi \cos n\pi}{n} \right]$$

$$= -3 \frac{\cos n\pi}{n} = 3 \frac{(-1)^{n+1}}{n}$$

So the required Fourier
is

$$f(x) = \frac{A_0}{2} + \sum_{n=1}^{\infty} (a_n \cos nx + b_n \sin nx)$$

$$= \frac{\pi}{4} - \frac{2}{\pi} \sum_{n=1}^{\infty} \frac{\cos(2n-1)x}{(2n-1)^2} + 3 \sum_{n=1}^{\infty} \frac{(-1)^{n+1} \sin nx}{n}$$

Question No 3

Given :-

$$y'' - 4y' + 13y = 8 \sin 3x$$
$$y(0) = 1, y'(0) = 2$$

Sol:-

$$y'' - 4y' + 13y = 8 \sin 3x \rightarrow (1)$$

Associated homogenous eq (1) is

$$y'' - 4y' + 13y = 0 \rightarrow (2)$$

put $y = m$ in (2)

$$m^2 - 4m + 13 = 0$$

by quadratic formula

$$a = 1, b = -4, c = 13$$

$$m = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$$

$$m = \frac{-(-4) \pm \sqrt{(-4)^2 - 4(1)(13)}}{2}$$

$$m = \frac{4 \pm \sqrt{16 - 52}}{2}$$

$$m = \frac{4 \pm \sqrt{-36}}{2}$$

$$m = \frac{4 \pm \sqrt{36i}}{2} = \frac{4 \pm 6i}{2}$$

$$m = 2 \pm 3i$$

$$m_1 = 2 + 3i, m_2 = 2 - 3i$$

$$y_c = e^{2x} (C_1 \cos 3x + C_2 \sin 3x) \rightarrow A$$

Let $y = A \cos 3x + B \sin 3x \rightarrow A, B$
Diff w.r.t 'x'

$$y_p = -3A \sin 3x + 3B \cos 3x$$

put in (1)

$$\Rightarrow -9A \cos 3x - 9B \sin 3x$$

Again Diff w.r.t 'x'

$$y_p'' = -8A \cos 3x - 8B \sin 3x$$

Put in (i)

$$(-8A \cos 3x - 8B \sin 3x) - 4(-3A \sin 3x + 3B \cos 3x)$$

$$+ B(A \cos 3x + B \sin 3x) - 8 \sin 3x$$

$$\Rightarrow -8A \cos 3x - 12B \cos 3x + 12A \sin 3x$$

$$- 8B \sin 3x + 12A \sin 3x + 13B \sin 3x - 8 \sin 3x$$

$$\Rightarrow (-8A - 12B + 12A) \cos 3x + (-8B + 12A + 13B) \sin 3x$$

$$\sin 3x = 8 \sin 3x$$

Comparing Coefficient

$$\sin 3x \Rightarrow 4B + 12A = 8 \rightarrow (a)$$

$$4A - 12B = 0 \rightarrow 4A - 12B$$

$$[A = 3B] \rightarrow (b)$$

Put (b) in a

$$4B + 12(3B) = 8$$

$$40B = 8$$

$$[B = \frac{1}{5}] \rightarrow (i)$$

put (i) in (v)

$$\underline{A = 3/\sqrt{5}} \rightarrow d$$

Put these all in eq yP

$$yP = 3/\sqrt{5} \cos 3x + 1/\sqrt{5} \sin 3x \rightarrow (B)$$

$$y = y_{ct} + yP$$

$$y = e^{2x} (C_1 \cos 3x + C_2 \sin 3x) + 3/\sqrt{5} \cos 3x + 1/\sqrt{5} \sin 3x \rightarrow (C)$$

Now we need to find the value of C_1 & C_2

Put $x=0$ & $y=1$ in (C)

$$1 = e^{x(0)} (C_1 \cos 3(0) + C_2 \sin 3(0) + 3/\sqrt{5} \cos 3(0) + 1/\sqrt{5} \sin 3(0))$$

$$1 = C_1 (1) + C_2 (0) + 3/\sqrt{5} (1) + 1/\sqrt{5} (0)$$

$$1 = C_1 + 3/\sqrt{5}$$

$$\underline{C_1 = 2/\sqrt{5} \rightarrow} \quad **$$

Diff w-r-t x

$$y' = C_1 (2e^{2x} \cos 3x - 3e^{2x} \sin 3x) + C_2 (2e^{2x} \sin 3x + 3e^{2x} \cos 3x) - 6/x$$
$$\sin 3x + 3/x \cos 3x \rightarrow \textcircled{D}$$

Put

$$y' = 2, \quad x = 0 \text{ in } \textcircled{D}$$

$$y' = C_1 (2e^{2x} \cos 3x - 3e^{2x} \sin 3x) + C_2 (2e^{2x} \sin 3x + 3e^{2x} \cos 3x) - 6/x$$
$$\sin 3x + 3/x \cos 3x$$

Put $y' = 2$; $x = 0$

$$2 = C_1 (2e^{2(0)} \sin 3(0) + 3e^{2(0)} \sin(0)) + C_2 (2e^{2(0)} \sin 3(0) + 3e^{2(0)} \cos 3(0))$$

$$2 = C_1 (2) + C_2 (3) - 0 + 3/x$$

$$2 = 2C_1 + 3C_2 + 3/x$$

$$\text{Put } C_1 = 2/x$$

$$2 = 4/x + 3C_2 + 3/x$$

$$2 = \frac{3}{5} + 3C_2$$

$$3C_2 = \frac{3}{5}$$

$$C_2 = \frac{3}{15} \rightarrow \boxed{***}$$

Put $**$ & $***$ in (c)

$$y = e^{3x} \left(\frac{2}{5} \cos 3x + \frac{3}{15} \sin 3x \right) + \frac{3}{5} \cos 3x + \frac{2}{5} \sin 3x$$

$$y = \frac{2}{5} e^{2x} \cos 3x + \frac{3}{15} e^{2x} \sin 3x + \frac{3}{5}$$

$$+ \frac{2}{5} \cos 3x + \frac{2}{5} \sin 3x$$

So this is the

required equation.

Question No 04

Given :-

$$(D^2 - DD')z = \cos x \cos 2y$$

Sol :-

$$(D^2 - DD')z = \cos x \cos 2y$$

$$CF = \phi_1(y) + \phi_2(y+x)$$

while its PI is given by

$$PI = \frac{1}{(D^2 - DD')} + \frac{1}{2} \{ \cos(x+2y) + \cos(x-2y) \}$$

$$= \frac{1}{2} \left\{ \frac{1}{(-1+2)} \cos(x+2y) + \frac{1}{(-1-2)} \cos(x-2y) \right\}$$

$$= \frac{1}{2} \cos(x-2y) - \frac{1}{6} \cos(x-2y)$$

Solution of the give

PDE'S

$$z = \phi_1(y) + \phi_2(y+x) + \frac{1}{2} \cos(x+y) + \frac{1}{6} \cos$$

$(x-2y)$
Ans